
Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-1001

F.Y. B.A. (Regular) EXAMINATION, 2017

Group A : COMPULSORY ENGLISH

Text Prescribed : Visionary Gleam

(Prose and Poetry)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (i) How did the astrologer convince Guru Nayak about his

future ?

(ii) Comment on the use of humour and irony in the story

‘Karma’.

(B) (i) Describe the reaction of Jim on seeing Della with short

hair in the story ‘The Gift of the Magi’.

(ii) What, according to Nathaniel Branden, can make one

competent to cope with the basic challenges of life ?

P.T.O.
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2. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (i) Discuss ‘A Red, Red Rose’ as a love poem.

(ii) What qualities does the poet wish his country to have

in ‘Where the Mind is Without Fear’ ?

(B) (i) How does ‘If You Call Me’ present the beloved’s deep

passion for her lover ?

(ii) Comment on the language of the poem, ‘A Red, Red Rose’.

3. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (i) To serve the nation, Nehru felt, we should ‘redeem our

pledge’. Elaborate.

(ii) How can the youth make themselves fit for the task

of serving the nation according to Karan Singh ?

(B) (i) How does Dr. Ambedkar view the prospects of democracy

in India ?

(ii) Draw a character sketch of the narrator in ‘The Eyes

are Not Here’.

4. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (i) Comment on the speaker’s description of the city in ‘Upon

Westminster Bridge’.

(ii) Why does the poet’s attitude to look at the old woman

change in the end ?
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(B) (i) ‘Success is counted sweetest’ makes a case for the defeated

human being. Do you agree ? Give reasons for your

answer.

(ii) Discuss ‘Upon Westminster Bridge’ as a nature poem.

5. (A) Attempt any four of the following : [8]

(i) Fill in the blanks in the sentence below, using verbs

in the simple present form.

Our lungs ..................... (expand) when we ...................

(breathe in).

(ii) Fill in the blanks in the sentence below, putting the verbs

in brackets in either the simple past or the past perfect

tense, as required.

The sun ................... (set) by the time we ................ (leave)

for home.

(iii) Choose the correct alternative and rewrite the following.

Rakesh ................... in Mumbai since 1984. (is living/has

been living).

(iv) Fill in the blanks in the sentence below using the appropriate

form (singular or plural) of the verb given in brackets.

Use the verbs in the tenses suggested.

Mr. Patel .................. (move : present progressive) into

his new house next week. He .................. (invite : present

perfect) all his friends to a house-warming party.
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(v) Correct the following sentence and rewrite :

They has been preparing for the exam.

(vi) Rewrite the following sentence in the tense suggested

in bracket.

Rahul was playing cricket all day. (Change into the present

progressive tense)

(B) Attempt any two of the following : [8]

(i) Two politicians are discussing the issue of corruption in

India on a TV Channel. They agree on some points and

disagree on others. Write a dialogue between the two.

(ii) Rima is in bed with fever. She will not be able to take

the final examination this year. Her aunt visits her to

express sympathy and comforts her. Write a dialogue

based on the situation.

(iii) You want to buy a new smart phone. Your friend gives

you suggestions regarding the features, brands and price

of some phones to enable you to make a proper choice.

Write a dialogue between both of you.



P.T.O.

Total No. of Questions—5+4] [Total No. of Printed Pages—7

Seat

No. [5101]-1002

F.Y. B.A. EXAMINATION, 2017

MARATHI

G-1 : 

(2013 PATTERN)

:— (i)

(ii)

(iii)

80

 :— (i)

(ii)

[10]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)
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[10]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

[10]

(i)

(ii)

(iii)

(iv)

[10]

(i)

(ii)
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[10]

(i)

(ii)

[5]

(i)

(ii)

[15]

(i)

(ii)

(iii)

(iv)

(v)

[5]

(i) Art

(ii) Circular

(iii) Enquiry

(iv) Commerce

(v) Grade

(vi) Grant

(vii) University

(viii) Examination.
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[5]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)
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[5101]-1002

G-1 : 

80

 :— (i)

(ii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)
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(x)

(xi)

(xii)

Action

Basic Pay.

[5]

(i)

(ii)

[5]
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[10]

(i)

(ii)

[10]

I have nothing to offer but blood, toil, tears and sweat. We

have before us a situation of the most grievous kind. We have

before us many months of struggle and suffering. You ask,

what is our policy ? I say it is to wage war by land, sea

and air. War with all our might, with all the strength God

has given us. You ask what is our aim ? I can answer it

in one word. It is victory. Victory at all costs, in spite of

all terrors. Without victory there is no survival.

[15]

(i)

(ii)

(iii)

[15]

(i)

(ii)

(iii)
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Total No. of Frages—4+4] [Total No. of Printed Pages—7

Seat

No. [5101]-1004

F.Y. B.A. EXAMINATION, 2017
GERMAN (ADVANCED)

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Note :— This paper of 80 marks include listening comprehension exam

of 10 marks and oral exam of 10 marks. Use of a dictionary
is not allowed.
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[5101]-1004
GERMAN (BASIC)

Time : Three Hours Maximum Marks : 80

Note :— All questions are compulsory. 10 marks are for Listening

Comprehension and 10 marks for Oral Exam.
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Total No. of Questions—5] [Total No. of Printed Pages—2

Seat

No. [5101]-1006

F.Y. B.A. EXAMINATION, 2017

GUJARATI

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
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Total No. of Questions—5] [Total No. of Printed Pages—3

[5101]-1007

F.Y. B.A. EXAMINATION, 2017

URDU

(Group-B)

General Paper  I

(2013 PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) Attempt  All questions.

(2) Figures to the left indicate full marks.

(A) Bang-e-Dara.  

(B) Chand Hum Asr.  

P.T.O.

 Seat
  No.



2 [5101]-1007



3 [5101]-1007
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[5101]-1011

F.Y. B.A. EXAMINATION, 2017

PERSIAN

General  Paper  I (Text : Aks-e-Farsi)

(2013  PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

1. Define and illustrate any five of the following : [10]

2. Write short notes on any two of the following : [10]

P.T.O.

 Seat
  No.



3. (A) Reproduce on any one short story of the following : [10]

(B) Write short notes on any two of the following : [12]

4. Explain in Persian or translate and explain into English or Urdu or

Marathi any ten couplates of the following : [20]

2 [5101]-1011



5. (A) Translate any two passages of the following : [10]

P.T.O. 3 [5101]-1011



(B) Translate the unseen English passage into Persian or Marathi

or Urdu : [8]

An international exhibition promotes understanding and

brotherhood among the people of various countries. It

transports the culture, civilisation and traditional of one

country to the other. It adds to our knowledge about the

progress a country has made in the field of industry commerce

agriculture, science and technology etc.

4 [5101]-1011



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-1012

F.Y. B.A. EXAMINATION, 2017

SANSKRIT 

G-1  : (Surabharati)

(2013 PATTERN)

80

 :— (i)

All questions are compulsory.

(ii)

Figures to the right indicate full marks.

1.

[16]

Translate each any two from ‘A’ and ‘B’ Section into Marathi or

English :

Section ‘A’

(i)

P.T.O.
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(ii)

(iii)

Section ‘B’

(i)

(ii)

(iii)
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2. [16]

Explain ’Kautilya s
�

 views regarding development of a new village.

(Or)

Explain in detail the dialogue of and .

3. [16]

Appreciate the lesson .

(Or)

Appreciate a dialogue of  and  appearing in the lesson named

.

4.

[8+8=16]

Explain with reference to context any two from each Section ‘A’

and Section ‘B’ :

Section ‘A’

(i)

(ii)

(iii)
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Section ‘B’

(i)

(ii)

(iii)

5. [16]

Write short notes on any two of the following :

(i)

Character sketch of Gautama

(ii)

Speech delivered by Swamij i  in the .

(iii)

Thoughts of  on poverty

(iv)

Description of  Season.



Total No. of Questions—5] [Total No. of Printed Pages—5

[5101]-1015

F.Y. B.A. EXAMINATION, 2017

ARABIC

General  Paper  I

(2013  PATTERN)

Time : Three Hours   Maximum Marks : 80

1. Translate into English or Urdu or Marathi any two of the following

passages : [20]

P.T.O.

 Seat

  No.



2. Explain with reference any five of the following couplets : [15]

2 [5101]-1015



3. Define with examples any two of the following topics : [10]

P.T.O. 3 [5101]-1015



4. Write in detail any two of the following notes : [15]

5. (A) Translate the following into English (any five) : [10]

4 [5101]-1015



(B) Translate the following into Arabic (any five) : [10]

(1) He is going to his friend.

(2) There is a table in the room.

(3) He took him to the school.

(4) The new teacher is a tall man.

(5) On the window there is a curtain.

(6) His office is far from his home.

(7) There is a student in the class.

(8) No, his college is closed.

5 [5101]-1015
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Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5101]-1016

F.Y. B.A. EXAMINATION, 2017

ECONOMICS

G-1 : Indian Economy Problems and Prospects

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) State the concept of developed economy.

(2) State the problems of overpopulation.

(3) State the types of unemployment.

(4) State the meaning of Globalization.

(5) State the types of planning.

(6) State the concept of cooperative movement.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain the comparison of Indian economy with developed

countries.

(2) State the causes of unemployment in India.

(3) State the problems of large scale industry.

(4) Explain the objectives of planning.
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3. Answer the following questions in 400 words (any one) : [20]

(1) Explain the sources of Agriculture Finance in India.

(2) Explain the causes of Regional Imbalance in Maharashtra.

4. Write short notes on (any four) : [20]

(1) Quality of Population

(2) Human Development Index

(3) Unemployment

(4) Industrial Policy

(5) Industrial Dispute

(6) Social Security.

80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[20]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[5101]-1016

G-1 : Agricultural Economics

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) State the importance of Agricultural Economics.

(2) State the need of Second Green Revolution.

(3) State the objectives of World Trade Organisation.

(4) Explain the traditional methods of irrigation.

(5) State the scope of organic farming.

(6) Explain importance of Agriculture Finance.

2. Answer the following questions in 200 words each (any two) : [20]

(1) State the problems of Agricultural Marketing.

(2) Explain the soruces of Agricultural Finance.

(3) State the measures for improvement Economic Status of

Agricultural Labour.

(4) State the importance of irrigation in Agriculture Sector.

3. Answer the following question in 400 words (any one) : [20]

(1) Explain the impact of S.E.Z. in Agricultural Sector.

(2) State the impact of WTO on Indian Agricultural Sector.
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4. Write short notes on (any four) : [20]

(1) Food Security Scheme

(2) Crop Structure

(3) Organic Farming

(4) Water Management

(5) Agri-Price Policy

(6) NABARD.

80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)
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(2)

(3)

(4)

[20]

(1)

(2) (WTO) 

[20]

(1)

(2)

(3)

(4)

(5)

(6)



Total No. of Questions—4+44+44+44+4] [Total No. of Printed Pages—4+24+24+24+2

SeatSeatSeatSeat

No.No.No.No. [5101]-1017[5101]-1017[5101]-1017[5101]-1017

F.Y. B.A. EXAMINATION, 2017F.Y. B.A. EXAMINATION, 2017F.Y. B.A. EXAMINATION, 2017F.Y. B.A. EXAMINATION, 2017

POLITICAL SCIENCEPOLITICAL SCIENCEPOLITICAL SCIENCEPOLITICAL SCIENCE

(G-I : Indian Government and Politics)(G-I : Indian Government and Politics)(G-I : Indian Government and Politics)(G-I : Indian Government and Politics)

(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. Attempt any four questions (Each in 100100100100 words) : [20]

(a) Discuss the formation of Indian Constitution.

(b) Explain right to equality.

(c) Explain administrative relations between centre and state.

(d) Discuss Election reforms in India

(e) Discuss the caste and politics.

(f) Explain the role of Chief Minister.

2.2.2.2. Attempt any two questions. (Each in 200200200200 words). [20]

(a) Write fundamental duties of Indian citizens.

(b) Discuss religious communalism in India.

(c) Explain the philosophy of preamble of Indian Constitution.

(d) Write the causes of regional imbalance in India.

P.T.O.
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3.3.3.3. Attempt any one question (in 400400400400 words) :  [20]

(a) Explain the salient features of Indian Constitution.

(b) Explain the composition, powers and functions of Lok Sabha.

4.4.4.4. Write short notes on (any four) : [20]

(a) Rise of OBC politics

(b) Multi-party system in India

(c) Judicial review

(d) Social directive principles

(e) Border issue

(f) Issue of development.

80808080

 :— :— :— :— (i)

(ii)

(iii)

1.1.1.1. [20]
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2.2.2.2. [20]

3.3.3.3.  [20]

4.4.4.4.  [20]
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[5101]-1017[5101]-1017[5101]-1017[5101]-1017

G-1 : MODERN INDIAN POLITICAL THOUGHT (Optional)G-1 : MODERN INDIAN POLITICAL THOUGHT (Optional)G-1 : MODERN INDIAN POLITICAL THOUGHT (Optional)G-1 : MODERN INDIAN POLITICAL THOUGHT (Optional)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. Attempt any four questions. (Each in 100100100100 words) : [20]

(a) Mahatma Phule’s thought on liberalism.

(b) Maulana Azads thought on Nationalism.

(c) Mahatma Phule’s critique of Brabhanism.

(d) Maulana Azad’s view on Pan Islamism.

(e) Dr. Ambedkar’s thought on social democracy.

(f) Tilak’s thought on Swarajya.

2.2.2.2. Attempt any two questions (Each in 200200200200 words) : [20]

(a) Discuss Lokmanya Tilak’s views on Nationalism.

(b) Criticise of V.D. Savarkar’s Nationalism.

(c) Describe Radical Humanism of M.N. Roy.

(d) Explain Dr. Ambedkar’s state socialism.

3.3.3.3. Attempt any one question (Each in 400400400400 words) : [20]

(a) Criticise justice Ranade’s analysis of Indian poverty.

(b) Describe in detail Gandhiji’s thought on Satyagraha.
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4.4.4.4. Write short notes on any four (Each in 100 100 100 100 words) [20]

(a) Mahatma Phule’s thought on Emancipation of Shudratishudra

and women.

(b) Abul Kalam Azad’s interpretation of Islam.

(c) Mahatma Phule’s doctrine of Sarvajanik Satyadharma.

(d) V.D. Savarkar’s views on religion and science.

(e) Lokmanya Tilak’s views on social reforms.

(f) Dr. Ambedkar’s thought on caste system and Annihilation of

caste.

80808080

 :— :— :— :— (i)

(ii)

(iii)

1.1.1.1. [20]

(a)

(b)

(c)

(d)

(e)

(f)
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2.2.2.2. [20]

(a)

(b)

(c)

(d)

3.3.3.3. [20]

(a)

(b)

4.4.4.4. [20]

(a)

(b)

(c)

(d)

(e)

(f)



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-1018

F.Y. B.A. EXAMINATION, 2017

HISTORY

G-1 : Chhatrapati Shivaji and His Times (1630-1707)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) What do you know about a book ‘Radhamadhavvilaschampu’ ?

(ii) Explain the concept of ‘Guerrilla Warfare’.

(iii) Write the importance of Council of Eight Minister.

(iv) Describe the relation between Chh. Sambhaji and Portuguese.

(v) State the contrubution of Ramchandrapant Amatya in Maratha

War of Independence.

(vi) Explain the Religious policy in the period of Chh. Shivaji.

2. Answer the following questions in 200 words each (any two) : [20]

(i) State the usefulness of sources to study of Chh. Shivaji and

his times.
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(ii) Which were the causes of Chh. Shivaji visit to Agra ?

(iii) Explain the contribution of Chh. Rajaram in Maratha war of

Independence.

(iv) Give an account of Land Revenue system in period of

Chh. Shivaji.

3. Answer the following questions in 400 words each (any one) : [20]

(i) Evaluate the role of Chh. Sambhaji in his period.

(ii) Explain the Judicial system under the period of Maratha.

4. Write short notes on (any four) : [20]

(i) Sabhasad Bakhar

(ii) Shiledar

(iii) Chh. Shivaji’s second coronation

(iv) Village administration

(v) Golden coins in the period of Chh. Shivaji

(vi) Architecture of Fort.

80

 :— (i)

(ii)

(iii)

[20]

(i)
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(ii)

(iii)

(iv)

(v)

(vi)

[20]

(i)

(ii)

(iii)

(iv)

[20]

(i)

(ii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-1019

F.Y. B.A. EXAMINATION, 2017

ANTHROPOLOGY

G-I : Introduction to Social and Cultural Anthropology

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each : [20]

(1) Explain the preferential types of Marriage.

(2) State the concept of cultural lag.

(3) What is the importance of magic in tribal life ?

(4) What is the concept of property in tribal society ?

(5) Describe the uses of Anthropology.

(6) Explain the nature of punishment in tribal society.

2. Answer any two of the following questions in 200 words each : [20]

(1) Describe various stages of Human Evolution.

(2) Explain the branches of Anthropology.

(3) Describe the types of magic.

(4) Explain the characteristics of culture.
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3. Answer any one question in 400 words : [20]

(1) What is kinship ? Discuss the kinship behavioural patterns

among tribals.

(2) Explain the nature of Law and Justice among Adivasis.

4. Write short notes on any four of the following : [20]

(1) Hunting and Fishing

(2) Age at marriage among tribals

(3) Shifting cultivation

(4) Culture and Personality

(5) Bhagat

(6) Material Culture.

80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[20]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5101]-1020

F.Y. B.A. EXAMINATION, 2017

G-I : GEOGRAPHY

Gg-110 : Elements of Geomorphology

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

(iv) Use of map stencil is allowed.

1. Answer in 20 words each (any ten) : [20]

(i) Define Geomorphology.

(ii) What is International date line ?

(iii) What is local time ?

(iv) What is ‘MOHO discontinuity’ ?

(v) Who and when introduce the continental drift theory ?

(vi) What is Rock ?

(vii) What is Folding ?

(viii) Write the types of weathering.

(ix) Write the types of mass wasting.

(x) Define convex slope.
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(xi) Write any two causes of the flood.

(xii) Define watershed.

(xiii) Write any two physical features which are surrounded by

your area.

2. Answer in 50 words each (any two) : [10]

(i) Branches of Physical Geography.

(ii) Write the properties of igneous rock.

(iii) Landslide.

(iv) Causes of ‘Tsunami’.

3. Answer in 150 words each (any two) : [20]

(i) Explain plate tectonic theory.

(ii) Write in detail of faulting.

(iii) Write in detail of mechanical weathering.

(iv) Explain the soil degradation.

4. Answer in 300 words each (any two) : [30]

(i) Explain the interior of the earth with diagram.

(ii) Define earthquake. Explain the causes of earthquake.

(iii) Describe the landforms associated with erosional work of

river.

(iv) Elaborate the application of Applied Geomorphology in resource

evaluation.
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80

 :— (i)

(ii)

(iii)

(iv)

(v)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(xii)

(xiii)

[10]

(i)
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(ii)

(iii)

(iv)

[20]

(i)

(ii)

(iii)

(iv)

[30]

(i)

(ii)

(iii)

(iv)



Total No. of Questions—7+5+6] [Total No. of Printed Pages—4

Seat

No. [5101]-1021

F.Y. B.A. EXAMINATION, 2017

MUSIC

(2013 PATTERN)

20

 :— (i)

(ii)

(iii)

1.

2.

3.

(1)

(2)

(3)

P.T.O.
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4.

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

5.

(1)

(2)

(3)

(4)

6.

(1)

(2)

(3)

7.

(1)

(2)

(3)
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[5101]-1021

20

 :— (i)

(ii)

(iii)

1.

2.

3.

(1)

(2)

(3)

(4)

4.

(1)

(2)

5.
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[5101]-1021

20

 :— (i)

(ii)

(iii)

1.

2.

3.

4.

(1)

(2)

(3)

(4)

(5)

5.

6.

(1)

(2)

(3)



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5101]-1022

F.Y. B.A. EXAMINATION, 2017

PUBLIC ADMINISTRATION (G-1)

(Principles of Public Administration)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four questions of the following (in 100 words

each) : [20]

(i) Types of staff Agencies.

(ii) Significance of Public Administration

(iii) Span of Control.

(iv) Methods of Training.

(v) Write the functions of Bureaucracy.

(vi) Any five features of Department.

2. Attempt any two questions of the following (in 200 words

each) : [20]

(i) Traditional approach to the study of Public Administration.

P.T.O.
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(ii) Describe the process of Decision-Making.

(iii) Mention various principles of Administrative Promotion.

(iv) Explain the judicial control over the Administration.

3. Attempt any one question of the following (in 400 words) : [20]

(i) What is Budget ? Explain the budgetary process in

India.

(ii) Explain the nature, scope and importance of Public

Administration.

4. Write short notes on (any four) : [20]

(i) State the merits of Direct Recruitment

(ii) Co-ordination

(iii) Types of Performance Budget

(iv) Demerits of Hierarchy

(v) Types of Bureaucracy

(vi) Significance of Retirement.

80

 :— (i)

(ii)
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1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)
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4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5101]-1023

F.Y. B.A. EXAMINATION, 2017

PSYCHOLOGY

G-1 : General Psychology

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 100 words each (any

four) : [20]

(i) Explain the adrenal gland.

(ii) What is sensation ?

(iii) What is meant by Frustration ?

(iv) Explain the nature of emotions.

(v) State the SWOT analysis.

(vi) Explain the Intelligence Quotient (IQ).

P.T.O.
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2. Answer the following questions in 200 words each (any

two) : [20]

(i) Discuss the determinants of attention.

(ii) Explain the biological motivation.

(iii) Explain the Freud’s psychoanalytical theory of personality.

(iv) Explain the types of thinking.

3. Answer any one of the following questions in 400 words : [20]

(i) What is Psychology ? Explain the Branches/Fields of

Psychology.

(ii) Define Memory. Explain the types of memory.

4. Write short notes on (any four) : [20]

(i) Neurotransmitters

(ii) Perceptual Illusions

(iii) Emotional Intelligence (EQ)

(iv) Conflict Resolution Techniques

(v) Big Five Model

(vi) Mental Retardation.
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80

 :— (i)

(ii)

(iii)

(iv)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

2. [20]

(i)

(ii)

(iii)

(iv)
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3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5101]-1024

F.Y. B.A. EXAMINATION, 2017

G-1 : INTRODUCTION TO GANDHIAN THOUGHT

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any

four) : [20]

(i) Why is Gandhiji called an active philosopher ?

(ii) Briefly illustrate Gandhiji’s views on Truth.

(iii) Briefly explain Gandhiji’s role as a social reformer.

(iv) As a technique of Satyagraha explain idea of Boycott.

(v) Explain in short any two sins.

(vi) Explain in brief Gandhiji’s idea of Swaraja.

2. Answer the following questions in 200 words each (any

two) : [20]

(i) Explain and bring out the importance of Idea of Means and

Ends.

P.T.O.
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(ii) State Gandhiji’s first satyagraha in South Africa.

(iii) Explain the impact of Western Source on Gandhi.

(iv) Explain in short ethical thoughts of Gandhi.

3. Answer any one of the following questions in 400 words : [20]

(i) Explain Gandhiji’s social thoughts about Varna and Caste

System.

(ii) Explain the nature of Satyagraha with the help of any two

suitable examples of Satyagraha.

4. Write short notes on (any four) : [20]

(i) Ekadasavrata

(ii) Purity of Means

(iii) Dandi Satyagraha

(iv) Prerequisites of Satyagrahi

(v) Concept of Sarvadharmasambhava

(vi) Concept of Ahimsa.

80

 :— (i)

(ii)
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1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)
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4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-1025

F.Y. B.A. EXAMINATION, 2017

YOGVIDYA

General Paper I

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one of the following in 50 words : [5]

(i) Benefits of Niyam in development of self-behaviour.

(ii) Use of Kapalbhati Kriya.

2. Write short notes (any two) : [10]

(i) Hathayoga

(ii) Dharana

(iii) Yam

(iv) Bhujangasana.

P.T.O.
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3. Answer any two questions from the following in 200 to 250

words : [15]

(i) Explain the Mantra Yoga

(ii) Explain the Lay Yoga.

(iii) State the importance of Bhramari Pranayama in Mental

Health ?

4. Attempt any one question in detail : [10]

(i) Define Asana and nature of Asana. Explain the importance

of Asana in daily life.

(ii) State the definition and nature of Yoga. Explain the bias

about Yoga.

40

 :— (i)

(ii)

(iii)

1. [5]

(i)

(ii)
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2. [10]

(i)

(ii)

(iii)

(iv)

3. [15]

(i)

(ii)

(iii)

4. [10]

(i)

(ii)



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5101]-1026

F.Y. B.A. EXAMINATION, 2017

HISTORY OF CIVILIZATION

General Paper I

Cultural History of Maharashtra (Upto 13th Century)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any

four) : [20]

(i) Explain the geographical features of Maharashtra.

(ii) Write report on excavation in Inamgoan.

(iii) What do you know about the Yadav Administration ?

(iv) State about the Nomenclature of Maharashtra.

(v) What is Hemadpanti Temple ?

(vi) Explain in brief the Sanskrit Literature.

P.T.O.
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2. Answer the following questions in 200 words each (any

two) : [20]

(i) Write report on excavation in Dayamabad.

(ii) Write an achievement of Satvahan dynasty.

(iii) Write an essay on history of fort architecture.

(iv) Describe the prakrit literature with reference to Gatha

Saptashati.

3. Answer any one of the following questions in 400 words : [20]

(i) Write the position of women in Medieval Maharashtra.

(ii) Write the achievement of Varkari Cult.

4. Write short notes on (any four) : [20]

(i) Origin of Marathi Language

(ii) Newasa

(iii) Caste System

(iv) Trade and Commerce in Maharashtra

(v) Painting

(vi) Achievement of Mahanubhav Cult.
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80

 :— (i)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)
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4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5101]-1027

F.Y. B.A. (Regular) EXAMINATION, 2017

HOME ECONOMICS

G-1 : Household and General Economics

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Diagrams must be drawn wherever necessary.

(iii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any

four) : [20]

(i) Explain the basic economics problems.

(ii) Explain the functions of market mechanism.

(iii) Explain the Law of Supply with suitable example.

(iv) Explain the difference between Family and Public Budget.

(v) Explain the problems of Home Management.

(vi) Explain the elements of interior Home Decoration.

P.T.O.
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2. Answer the following questions in 200 words each (any

two) : [20]

(i) Explain the features of Economics Law.

(ii) Explain the Law of Demand with suitable example.

(iii) Explain the process of Home Management.

(iv) Explain the relation between Human Values and Goals in Human

Life.

3. Answer any one the following questions in 400 words : [20]

(i) Explain the primary and secondary functions of Commercial

Banks.

(ii) Explain the process of decision-making with suitable

example.

4. Write short notes on (any four) : [20]

(i) Price elasticity of demand

(ii) Functions of money

(iii) Sources of family income

(iv) Types of goals

(v) Merits of home management

(vi) Elements of exterior home decoration.
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80

 :— (i)

(ii)

(iii)

(iv)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

2. [20]

(i)

(ii)

(iii)

(iv)
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3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—4+4+4] [Total No. of Printed Pages—9

Seat

No. [5101]-1028

F.Y. B.A. EXAMINATION, 2017

DEFENCE AND STRATEGIC STUDIES

D.S. G-1 : (A) Defence Mechanism of India

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) What are the characteristics of Infantry ?

(ii) State the role of Armoured Corps.

(iii) State the role of C.R.P.F.

(iv) State the role of Electrical and Mechanical Engineers.

(v) Explain the Civil Defence Services.

(vi) State the limitation of Indian Airforce.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Trace the growth of Indian Navy since 1947.

(ii) What are the characteristics and limitation of signal corps ?

(iii) What are the characteristics and role of Indian Airforce ?

(iv) State the function of Security Committee of the Cabinet.

P.T.O.
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3. Answer the following questions in 400 words (any one) : [20]

(i) Explain with the help of chart the organisation of Army Head

Quarter.

(ii) What are the characteristics, role and limitation of Artillery ?

4. Write short notes on (any four) : [20]

(i) Process of Intelligence

(ii) Army Service Corps

(iii) Ministry of Defence

(iv) Naval Command

(v) President

(vi) Chief of the Staff Committee.

80

 :— (i)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



[5101]-1028 3 P.T.O.

2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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[5101]-1028

D.S. G-1 : (B) Military Thinkers in 19th Century

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Explain strategic thought of Marshal Foch.

(ii) Explain Liddle Hart’s concept of Strategy.

(iii) State Jomini’s principles of War.

(iv) State Lenin’s concept of revolutionary War.

(v) State Military thought of H. V. Moltke.

(vi) Explain Schlieffen Plan.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain Admiral A. T. Mahan’s theory of sea power.

(ii) Explain Guerrilla tactics by Mao Zedong.

(iii) State thought of Che Guevara about Guerrilla Warfare.

(iv) Describe in brief strategic thought of Clausewitz.

3. Answer the following questions in 400 words (any one) : [20]

(i) Explain in detail theory of Air Power by Douhet.

(ii) Explain the Mackinder’s Heart Land Theory.
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4. Write short notes on (any four) : [20]

(i) Lenin

(ii) Che Guevara

(iii) A. T. Mahan

(iv) Karl Haushofer

(v) Jomini

(vi) General Douhet.

80

 :— (i)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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[5101]-1028

D.S. G-1 : (C) Post Cold War India’s Security Environment

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) What is Globalization ?

(ii) What are the Humanitarian Issues ?

(iii) What is Terrorism ?

(iv) State the effects of water pollution.

(v) What is N.C.T.C. ?

(vi) Explain the structure of E.U.

2. Answer the following questions in 200 words each (any two) : [20]

(i) What are the Regional challenges of India’s Security ?

(ii) State the structure and role of W.T.O.

(iii) Describe the causes of terrorism.

(iv) Trace the India’s efforts to become superpower.

3. Answer the following questions in 400 words (any one) : [20]

(i) What are the India’s External Security Challenges ? Explain.

(ii) Explain the various issues of environment.
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4. Write short notes on (any four) : [20]

(i) Counter Insurgency

(ii) Air Pollution

(iii) International Human Right Commission

(iv) New Trends of Terrorism

(v) New World Order

(vi) N.C.T.C.

80

 :— (i)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-1029

F.Y. B.A. EXAMINATION, 2017

SOCIAL WORK

(2013 PATTERN)

(1) Social Reform Movement in India.

(2) Introduction to Social Welfare and Social Services.

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Write an essay on ‘Ramakrishna Mission’. [16]

Or

Discuss the nature of social services in Pre-British period.

2. Explain the contribution of Mahatma Gandhi in removal of

Untouchability. [16]

Or

Write a note on the Problems of Deprived Sections in Society.

3. “Bhoodan Movement helped in creating social harmony.” Discuss. [16]

Or

Discuss the specific services for handicapped sections of the society.

P.T.O.
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4. State the planned provisions for social services in India. [16]

Or

Explain the work done by Brahmo Samaj.

5. Write short notes on any two of the following : [16]

(1) Arya Samaj

(2) Untouchability

(3) Social Reconstruction

(4) Gramdan.

80

 :— (i)

(ii)

(iii)

1. [16]

2. [16]
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3. [16]

4. [16]

5. [16]

(i)

(ii)

(iii)

(iv)



Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

No. [5101]-1030

F.Y. B.A. EXAMINATION, 2017

MATHEMATICAL STATISTICS

(Discrete Probability and Discrete Probability Distributions)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator and statistical tables is allowed.

(iv) Symbols have their usual meanings.

1. Attempt each of the following :

(a) State true or false of the following : [1×4=4]

(i) If A and B are independent events, then P(A B)�  is

zero.

(ii) Elementary event contains exactly one element from sample

space.

(iii) If A and B are independent events, then :

P(A B) P(B) P(A)� � � .

P.T.O.
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(iv) If

P(A) = 0.3 and P(B) = 0.7,

then A B� .

(b) Choose correct alternative of the following : [1×4=4]

(i) The probability of a certain event (sure event) is :

(A) zero

(B) one

(C) two

(D) infinity

(ii) If mean discrete random variable (r.v.) X is 12, then

E(X – 2) is :

(A) 12

(B) 8

(C) 10

(D) 14

(iii) The covariance between two independent discrete r.v.s

is :

(A) zero

(B) ten

(C) negative

(D) not exist
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(iv) If A and B are two independent events of � with

P(A) = 0.3 and P(B) = 0.7, then P(A B)�  is :

(A) 0.11

(B) 0.21

(C) 0.5

(D) 0.79

(c) Answer in brief of the following : [2×4=8]

(i) Define partition of a sample space.

(ii) Define conditional probability of two events.

(iii) State mean and variance of geometric distribution.

(iv) Describe the event of occurrence of exactly one event

out of two events by set notations and by Venn diagram.

2. Attempt any four of the following : [4×4=16]

(a) Obtain the probability distribution of X and P[1 < X < 5]

from the cumulative probability distribution as below :

X F(x)

1 0.2

2 0.35

3 0.6

4 0.75

5 0.85

6 1
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(b) Define uniform distribution. Obtain its mean and variance.

(c) A committee of two students is to be formed from 5 boys

and 2 girls by selecting them at random by without replacement.

Find the probability of selecting at least one girl in the

committee.

(d) Let X be a discrete r.v. with probability distribution as given

below :

X P(X = x)

0 0.3

1 0.4

2 0.2

3 0.1

Compute E(X) and E(3X + 7).

(e) Obtain the m.g.f. of binomial distribution with parameter

n and p.

(f) With usual notations, prove that :

Var(aX + b) = a2 Var(X).

3. Attempt any four of the following : [4×4=16]

(a) Explain the term sample space and event with suitable

illustration.

(b) State and prove additive property of cumulant generating function

(cgf) of a discrete r.v.
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(c) A box contain five bulbs of which three are defective. A random

sample of three bulbs is drawn from given box by with replacement

at a time. Find the probability of getting exactly two non-

defective bulbs.

(d) Define Poisson distribution with parameter ‘m’. Also, find its

mean.

(e) Verify independence of bivariate discrete r.v.s whose joint

probability distribution is given below :

  Y 1 2

X

–1 .18 .42

1 .12 .28

(f) State probability mass function (pmf) of negative binomial

distribution. Also, state its mean and variance.

4. Attempt any two of the following : [2×8=16]

(a) Let (X, Y) be bivariate discrete r.v. with joint probability distribution

as below :

Y 1 2 3

X

–1 K 2K 0

0 2K K 4K

1 K 0 3K
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Compute :

(i) The value of k.

(ii) P(X + Y 1)�

(iii) P(X|Y 1)� .

(b) State and prove Bayes theorem.

(c) (i) Let A and B be two events of � such that :

P(A) = 0.3, P(B) = 0.7 and P(A B) 0.8� � ,

then compute P(A|B) and P(A|BC).

(ii) Obtain the mode for binomial distribution.

(d) Prove the binomial approximation to hypergeometric distribution,

state your assumptions if any.

5. Attempt any one of the following : [1×16=16]

(a) (i) With usual notations, show that :

Var(aX – bY) = a2 Var(X) + b2 Var(Y) – 2ab Cov(X, Y).

(ii) A bag contains 4 tickets numbered 445, 454, 544 and

555. One ticket is drawn randomly. Let Ai be the event

that the ith digit of the number of the ticket is

4(i = 1, 2, 3). Discuss the independence of three events

A1, A2 and A3.
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(b) Let (X, Y) be bivariate discrete r.v. with joint probability distribution

as below :

  Y 1 2 3

X

–1 0.12 0.10 0.08

0 0.20 0.15 0.05

1 0.15 0.05 0.10

(i) Find the conditional probability distribution of X given

Y = 2.

(ii) Find the conditional expectation (mean) of X given

Y = 2.

(iii) Find the conditional variance of X given Y = 2.

(iv) Find the conditional variance of (3X + 2) given Y = 2.



Total No. of Questions—6] [Total No. of Printed Pages—4

Seat

No. [5101]-1031

F.Y. B.A. (Regular) EXAMINATION, 2017

OPTIONAL ENGLISH—I

Text : Interface (English Literature and Language)

(General Paper–I)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in about 70 words each (any three) : [12]

(a) Attempt a character sketch of Kalam’s father in ‘A Lesson

My Father Taught Me’.

(b) Write a note on the Bazaar status of English in European

countries.

(c) Attempt a character sketch of Miss. Leslie in ‘The Romance

of a Busy Broker’.

(d) Write a note on the world of adults as opposed to the world

of children in ‘A Day’s Wait’.

(e) Comment on the title of the essay ‘Toasted English’.

P.T.O.
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2. (A) Answer the following questions in about 70 words each (any

three) : [12]

(i) How does ‘Sonnet 29’ talk about importance of love in

life ?

(ii) Comment on the title of the poem ‘The World is Too

Much With Us’.

(iii) Write a note on the mysterious atmosphere in the poem

‘The Listeners’.

(iv) Discuss the central idea of the poem, ‘No Men are

Foreign’.

(v) How does Wordsworth express dislike over the modern

civilization ?

(B) Write short notes on the following (any two) : [6]

(i) Creativity and Productivity of Human Language

(ii) Primary nature of speech

(iii) Poetic function of language

(iv) Informative function of language.

3. Answer the following questions in about 100 words each (any two) : [12]

(a) Attempt a character sketch of the film crazy young man in

‘Upper Division Love’.
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(b) Explain Chinua Achebe’s exploration of complexities of human

relationships in ‘Marriage is a Private Affair’.

(c) Write a note on the character sketch of Okeke.

(d) Comment on the title of the story ‘Upper Division Love’.

4. Answer the following questions in about 100 words each (any two) : [12]

(a) Explain the title of the poem ‘The Road Not Taken’.

(b) Discuss the central idea of the poem ‘The Sun Rising’.

(c) Explain the argument between the mountain and the

squirrel.

(d) How does the poem ‘The Ballad of the Landlord’ describe the

harassment of the black tenant by the white landlord ?

5. Answer the following questions in about 100 words each (any two) : [12]

(a) Explain ‘Lithuania’ as a tragic play.

(b) Comment on the role of the Daughter in ‘Lithuania’.

(c) How does the play ‘The Swan Song’ depict the life of an

actor ?

(d) Attempt a character sketch of Vasili Svietlovidoff.

6. (A) Write a short note in about 50 words each (any one) : [4]

(i) Morphology : A study of words

(ii) The concept of Semantics.
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(B) (i) Identify the number of phonemes in the following words

(any two) : [2]

(1) rest

(2) man

(3) make

(4) psycho

(ii) Identify the structure of the following words in terms

of C and V (any four) : [4]

(1) bat

(2) test

(3) tree

(4) mild

(5) book

(6) out

(iii) Identify the vowels in the following words (any four) : [4]

(1) fan

(2) coil

(3) night

(4) run

(5) set

(6) care



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-1033

F.Y. B.A. EXAMINATION, 2017

COMMERCE

G-1 : Organisation of Commerce

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(a) Describe the term ‘Business’.

(b) State the nature of Commerce.

(c) Explain the scope of ‘Trade’.

(d) State the utility of Internet.

2. Answer the following questions in 100 words each (any four) : [20]

(a) Explain the importance of ‘Commerce’.

(b) Difference between Trade and Commerce.

(c) State the significance of Branding.

(d) Describe the objectives of Marketing.

(e) Explain the elements of Marketing.

(f) Describe the functions of Money.

P.T.O.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-1034

F.Y. B.A. EXAMINATION, 2017

EDUCATION

General (G-1)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Describe the role of education in social development.

(ii) Explain the objectives of pre-primary education.

(iii) Explain the importance of peer groups in education.

(iv) Elaborate the characteristics of education process.

(v) Explain the ‘earn and learn’ scheme stated by Karmveer Bhaurao

Patil.

(vi) Explain the nature of Educational Psychology.

2. Answer the following questions in 200 words each (any two) : [20]

(i) What is value education ? Explain the importance of value

education.

(ii) Explain the aims of ancient education in India.

(iii) Describe the educational thoughts of Mahatma Phule.

(iv) Explain the advantages and limitations of observation method.
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3. Answer the following questions in 400 words each (any one) : [20]

(i) What is the meaning of stagnation and wastage in primary

education ? Explain the causes of stagnation and wastage in

detail.

(ii) What is Mass Media ? Explain the role of radio in education.

4. Write short notes in 50 words each (any four) : [20]

(i) Nature of ‘Vishwabharati’.

(ii) Values in Indian Constitution.

(iii) Advantages of Experimental method.

(iv) The meaning of education stated by Swami Vivekanand.

(v) Objectives of education in National Policy of Education 1986.

(vi) Individual importance of Education.

80

 :— (i)

(ii)

(iii)

[20]

(i)

(ii)

(iii)
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(iv)

(v)

(vi)

[20]

(i)

(ii)

(iii)

(iv)

[20]

(i)

(ii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

No. [5101]-1035

F.Y. B.A. EXAMINATION, 2017

MATHEMATICS

FMG-I : Industrial Mathematics

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator is allowed.

1. Attempt any eight of the following : [16]

(a) Draw a sketch of the functions :

� � � �2( ) 1, ( ) 3 1f x x g x x .

(b) Find the slope of the linear function passing through the points

(4, 12) and (8, 2).

(c) Find '( )f x  and "( )f x  if :

��
2(2 5)( ) xf x e .

(d) Define the term “Marginal Cost”.

P.T.O.
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(e) Test whether the function :

� � �23 14 5y x x

is increasing, decreasing or stationary at x = 4.

(f) Find 3A + 5B if :

�� �
� �

� � �
� �
� �� 	

1 1

A 0 2

3 4

,  

�� �
� �

� �� �
� �
� �� 	

2 3

B 5 4

1 6

.

(g) Find corner points of the region bounded by :

� 
3 7 10x y ,

� 0x

� 0y .

(h) Determine the integral :

�
2xx e dx .

(i) Express the following system of equations in matrix form :

2x + 4y + 3z = 10

x – 5y + 8z = – 5.

(j) If

� �
� � �

�� �� 	

2 1
A

3 4
,

find the matrix A2.
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2. Attempt any four of the following : [16]

(a) Discuss the continuity of the function ( )f x  at x = 2, where

� �
� 


�

� � �

2 5 6
( ) ; 2

2

1 ; 2

x x
f x x

x

x .

(b) Evaluate the following limits if they exist :

(i)
�

�
0

1
lim

x

x

e

x

(ii)
�

�

�

3

20

2
lim

2x

x x

x
.

(c) Find 
dy

dx
, if :

� � � �5 4 4 5 100y xy x y x .

(d) Optimize the function :

� � � �3 2( ) 2 30 126 59f x x x x .

(e) Test whether the following functions are increasing, decreasing

or stationary at x = 2.

(i) � � �3 22 15 36y x x x

(ii) � �2 xy x e x .

(f) Find the average cost function from the total cost function :

TC = Q3 – 21Q2 + 500Q

Also, evaluate them at Q = 2.
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3. Attempt any two of the following : [16]

(a) Suppose :

�
( )

( )
( )

g x
f x

h x
,

where g(x) and h(x) are both differentiable functions and 
( ) 0h x .

Prove that :

�
�

2

( ) . '( ) ( ) . '( )
'( )

[ ( )]

h x g x g x h x
f x

h x
.

(b) A producer has the possibility of discriminating between the

domestic and foreign markets for a product where the demands,

respectively, are :

Q1 = 21 – 0.1P1

Q2 = 50 – 0.4P2

Total cost = 2000 + 10Q, where Q = Q1 + Q2.

What price will the producer charge in order to maximize

profit :

(i) With discrimination between markets, and

(ii) Without discrimination ?

(c) Use implicit differentiation to find 
dy

dx
 for the functions :

(i) �3 7 10x y

(ii) � � � � �3 2 4 43 1y xy x y x

(iii) � �2 2(sin cos )y xx e y e x .
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4. Attempt any four of the following : [16]

(a) Find AB and BA if :

� �A 1 3 4 , 

� �
� �

� � �
� �
� ��� 	

7

B 2

5

.

(b) Use Gauss elimination method to solve the following system

of equations :

x1 + x2 = 10

2x1 + 3x2 = 15.

(c) Evaluate :

��
2

3 2(4 7)

x
dx

x
.

(d) If

� �
� �

� � �
� �
� �� 	

7 5

A 1 3

8 6

, 

� �
� � �
� �� 	

2 6 5
B

4 9 10
 and  

� �
� �

� � �
� �
� �� 	

2

C 6

7

,

prove that :

(AB) C = A (BC).
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(e) Find extreme points of the region bounded by the following

constraints :

2x + 6y 
 36

5x + 3y 
 30

8x + 2y 
 40

     x � 0

     y � 0

(f) Evaluate the integral :

� �

� ��
2

3 2 3

6 4 10

( 5 )

x x
dx

x x x
.

5. Attempt any two of the following : [16]

(a) Solve the LPP by graphical method :

Maximize Z = 24x + 8y

Subject to

2x + 5y 
 40

 4x + y 
 20

10x + 5y 
 60

     x � 0

     y � 0
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(b) (i) If the marginal cost is :

MC = 25 + 30Q – 9Q2,

find total cost and average cost functions.

(ii) If the marginal revenue is given by :

MR = 60 – 2Q – 2Q2,

find total revenue and demand functions.

(c) A hamburger chain sells 1000 hamburgers, 600 cheeseburgers

and 1200 milk shakes in a week. The price of a hamburger

is ` 45, a cheeseburger ` 60 and a milk shake ` 50. The

cost to the chain of a hampburger is ` 38, a cheeseburger

` 42 and a milk shake ` 32. Find the firm’s profit for the

week, using :

(i) total and

(ii) per-unit concepts.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-1036

F.Y. B.A. EXAMINATION, 2017

PHYSICAL EDUCATION

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw the diagrams wherever necessary.

1. Answer the following in 50 words each (any two) : [5]

(i) Define Physical Education in brief.

(ii) Explain First Aid on playground.

(iii) Explain Health Related Physical Fitness (HRPF).

2. Answer the following in 100 words each (any two) : [10]

(i) List the Inter-Collegiate sports and games

(ii) Write objectives of Physical Education

(iii) Write importance of Suryanamaskar in Physical Fitness.

3. Answer the following in 200-250 words each (any two) : [15]

(i) Draw a sketch of Volleyball ground

P.T.O.
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(ii) Draw a sketch of Kabaddi ground.

(iii) Explain sports sociology.

4. Answer any one of the following in 500 words : [10]

(i) Write importance of sports psychology.

(ii) Explain biomechanics in sports.

40

 :— (i)

(ii)

(iii)

1. 50 [5]

(i)

(ii)

(iii)

2. 100 [10]

(i)

(ii)

(iii)
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3. 200-250 [15]

(i)

(ii)

(iii)

4. 500 [10]

(i)

(ii)



Total No. of Questions—5555] [Total No. of Printed Pages—4+14+14+14+1

SeatSeatSeatSeat

No.No.No.No. [5101]-1037[5101]-1037[5101]-1037[5101]-1037

F.Y. B.A. EXAMINATION, 2017F.Y. B.A. EXAMINATION, 2017F.Y. B.A. EXAMINATION, 2017F.Y. B.A. EXAMINATION, 2017

MATHEMATICSMATHEMATICSMATHEMATICSMATHEMATICS

(MG-1 Algebra and Geometry)(MG-1 Algebra and Geometry)(MG-1 Algebra and Geometry)(MG-1 Algebra and Geometry)

(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. Attempt any eight of the following : [16]

(a) Let a, b, c � ZZZZ where a & b �  0. If a|b and b|c, then

prove that a|c.

(b) Define an equivalence relation on a non-empty set X.

(c) State Cayley Hamilton theorem for matrices.

(d) Find the values of ‘a’ and ‘b’ if 1 and –2 are the roots of

the equation :

3 22 0.x x ax b� � � �

(e) Find the rank of :

1 1
A

2 2

� �
� � �
	 


.

P.T.O.
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(f) Define a cone.

(g) Find the direction cosines of a line whose direction ratios are

1, –2, 2.

(h) Find the distance of the point (1, 1, 4) from the plane :

3 6 2 11 0.x y z� � � �

(i) Find the centre and radius of the sphere :

2 2 2 2 4 6 5 0.x y z x y z� � � � � � �

(j) Find the centre of the conic :

2 27 8 6 6 9 0x xy y x y� � � � � �

2.2.2.2. Attempt any four of the following : [16]

(a) State and prove Euclid’s lemma.

(b) State and prove factor theorem for polynomials.

(c) Write down the addition table for ZZZZ6.

(d) Find a greatest common divisor of :

6 3( ) 1f x x x x� � � �  and 2( ) 1.g x x� �

(e) Find the eigenvalues of the matrix :

2 1 1

A 2 3 4

1 1 2

� �
� �� � �
� �� � �	 
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(f) Solve the following system of equations :

3 2 3;

2 3 3;

2 4

x y z

x y z

x y z

� � �

� � � �

� � �

3.3.3.3. Attempt any two of the following : [16]

(a) State and prove the division algorithm for integers.

(b) Find the rank of a matrix :

2 2 0 6

4 2 0 2
A

1 1 0 3

1 2 1 2

�� �
� �
� ��
� ��
� ��	 


by reducing it to echelon form.

(c) Solve the equation :

3 28 36 46 15 0x x x� � � � ,

given that the roots are in A.P.

4.4.4.4. Attempt any four of the following : [16]

(a) Find the transformed form of the equation :

2 22 3 4 3 0x xy y x� � � � �

when origin is shifted to the point (1, –2)



[5101]-1037 4

(b) If , ,� 
 �  are angles made by a line with the positive directions

of the coordinate axes, then prove that :

2 2 2cos cos cos 1� � 
 � � �

(c) Show that the lines :

3 5 7

2 3 3

x y z� � �
� �

�

and :

1 1 1

4 5 1

x y z� � �
� �

�

are coplanar.

(d) Find the equation of the sphere passing through the circle

of intersection of :

2 2 2 6 4 6 14 0x y z x y z� � � � � � �

and the plane 0x y z� � �  and passing through the point

(1, 1, –1).

(e) Find the equation of the cone whose vertex is at the origin

and the guiding curve is :

2 2 2 24 0,x y z x d lx my nz p� � � � � � � �

(f) Find the symmetric form of the equation of the line :

1 0

4 2 2 0

x y z

x y z

� � � �

� � � �
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5.5.5.5. Attempt any two of the following : [16]

(a) Reduce the equation :

2 25 6 5 10 6 3 0x xy y x y� � � � � �

to the standard form and name the conic.

(b) Prove that the first degree equation :

0ax by cz d� � � � ,

where a, b, c, d are constants represents a plane.

(c) Find the equation of the right circular cylinder whose axis

is x = 2y = –z and the radius is 4.



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—10

Seat

No. [5101]-1038

F.Y. B.A. EXAMINATION, 2017

STATISTICAL PRE-REQUISITES

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of statistical tables and calculator is allowed.

(iv) Symbols have their usual meanings.

(v) Graph paper will be supplied on request.

1. Attempt each of the following :

(A) State whether each of the following statements is true or

false : [1 each]

(1) Extreme values in a data set do not have a strong effect

on the median.

(2) If there are n dichotomous attributes, then the number

of positive classes is n2.

(3) Consistent player has less variability in test score.

(4) Sampling method is useful to collect only primary data.
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(B) Choose the correct alternative in the following : [1 each]

(1) If all A’s are B’s, then value of coefficient of association

Q is equal to :

(a) –1

(b) 1

(c) 0

(d) Infinity

(2) The measure of Kurtosis �2 for a platykurtic curve

is :

(a) greater than 3

(b) less than 1

(c) equal to 3

(d) less than 3

(3) Combined changes in prices and quantities are measured

by :

(a) Price index number

(b) Quantity index number

(c) Value index number

(d) All of the above
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(4) The value of lower quartile is equal to :

(a) P25

(b) Median

(c) D3

(d) Q3

(C) Answer in brief : [2 each]

(1) Define variance and state its demerits as a measure of

dispersion.

(2) Rank correlation coefficient between the marks in

English and in Hindi for a group of students is 0.5. The

sum of squares of the differences between ranks is 42.

Find the number of students in the group. Assuming no

ties.

(3) In an examination 40% failed in Microbiology, 80% failed

in Zoology, while 32% passed in both the subjects. Using

relations between class frequencies in attributes, find the

percentage of students failed in both the subjects.

(4) Define Karl Pearson’s coefficient of correlation and state

its properties.
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2. Attempt any four of the following : [4×4=16]

(1) Explain the various uses of cost of living index number.

(2) The following table gives daily sales (in ’000 `) of 200

shops :

Sales (in ’000 `) Number of shops

1—2 25

2—3 30

3—4 40

4—5 60

5—6 35

6—7 10

Draw histogram and hence determine mode graphically.

(3) The following results were obtained from records of age (X)

and systolic blood pressure (Y), of a group of 10 men :

X Y

Mean 53 142

Variance 130 165

and 1220x x y y� � � � . For this data, fit a simple linear

regression model

Y = a + bX

and use it to estimate the blood pressure of a man with age

of 45 years.
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(4) Describe scatter diagram and explain how it is used to measure

correlation.

(5) What is meant by association of two attributes ? How is it

measured ?

(6) Define raw moments and central moments for grouped data

upto fourth order. Also, state relation between central and

raw moments upto fourth order.

3. Attempt any four of the following : [4×4=16]

(1) Calculate cost of living index number from the following

data :

Group Index Number Weight

Food 350 50

Fuel and lighting 200 10

Clothing 240 10

House rent 160 10

Miscellaneous 250 20
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(2) The following data represents the profit (in lakhs `) of 50

companies :

Profit (in lakhs `) Frequency

21—24 2

24—27 6

27—30 15

30—33 19

33—36 4

36—39 3

39—42 1

Determine 75th percentile.

(3) Explain the concept of skewness of frequency distribution and

its various types.

(4) Information about the daily salaries (in `) of employees in

firms A and B is stated below :

Firm No. of Mean S.D. of

Employees Salary (`) Salary (`)

A 100 1500 100

B 75 2000 140

Find the combined mean and combined S.D. of two firms.



[5101]-1038 7 P.T.O.

(5) For the following frequency distribution determine mode :

Class Frequency

8—9 8

9—10 10

10—11 16

11—12 14

12—13 10

13—14 5

14—15 2

(6) What is linear regression ? Explain the concept of error in

regression.

4. Attempt any two of the following : [2×8=16]

(1) The prices of cotton and coal for first six months in year

2009 were as under :

Month Cotton Coal

Jan. 188 131

Feb. 178 130

Mar. 173 130

Apr. 164 129

May 172 129

June 184 120

Find coefficient of variation and hence decide which of the

prices are most stable.
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(2) (i) Explain the concept of shifting of base and splicing relating

to index number. [4]

(ii) In a group of 200 students from Mumbai College 150

like Hindi films, 100 like English films and 80 like both

films. Find the number of students who like :

(a) only Hindi film

(b) Film in only one language. [4]

(3) (i) Write a note on Kurtosis of a frequency distribution. [4]

(ii) Compute Laspeyre’s and Paasche’s price index numbers

for the following data : [4]

Commodity Base Year Current Year

Price Quantity Price Quantity

(in `) (in kg) (in `) (in kg)

A 4 6 5 4

B 5 4 6 2

C 6 2 8 1

(4) (i) Describe the various scales of measurement with

illustration. [4]
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(ii) Draw less than cumulative frequency curve for the following

frequency distribution and hence find median of the

distribution graphically : [4]

Class Frequency

5—10 2

10—15 11

15—20 15

20—25 39

25—30 41

30—35 42

35—40 16

5. Attempt any one of the following : [1×16=16]

(1) (i) State merits and demerits of geometric mean and harmonic

mean. [6]

(ii) Calculate Karl Pearson’s coefficient of skewness for the

following data : [10]

Income (`) No. of Employees

400—500 8

500—600 16

600—700 20

700—800 17

800—900 3



[5101]-1038 10

(2) (i) Compute first four central moments for the following

frequency distribution : [11]

Class Frequency

0—10 10

10—20 26

20—30 47

30—40 15

40—50 6

(ii) State the various characteristics of a good statistical

average. [5]
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F.Y. B.A. EXAMINATION, 2017

LOGIC AND PRINCIPLES OF REASONING

G-1 : Introduction to Logic and Principles of Reasoning

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [20]

(1) Distinguish between proposition and sentence.

(2) State four figures of syllogism.

(3) Distinguish between propositional variables and propositional

constants.

(4) Explain the nature of conditional proof.

(5) Describe the nature of truth table method as a decision

procedure.

(6) Explain the fallacy of division.
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2. Answer any two of the following : [20]

(1) If

U = {1, 2, 3, 4, 5}

A = {1, 2}

B = {2, 3}

Then list the elements of the following sets :

(i) A � ~ A

(ii) A �� ~ B

(iii) A �� ~ A

(iv) ~ (A �� B)

(v) ~ (A �� B)

(2) Demonstrate the invalidity of any two of the following

arguments :

(i) B �� A

~ C �� ~ ~ A

/�� B � C

(ii) ~ Q �� ~ P

~ Q �� ~ R

~ R

/� P
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(iii) A �� (B �� C)

~ C . ~ A

/� ~ A �� C

(iv) P �� (q �� r)

~ (~ p �� ~ q)

/� ~ q

(3) Convert and obvert the following :

(i) All Indians are honest.

(ii) No chairs are tables.

(iii) Some animals are clever.

(iv) Some teachers are not lazy.

(v) All rules are changeables.

(4) Give direct deductive proof of any two of the following

arguments :

(i) P �� (~ R . S)

(~ R� �� ~ P) �� Q

P     /�� Q

(ii) (~ A �� B) �� (C . D)

~ D   /� ~ A
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(iii) (Q �� R) . (S �� T)

(U �� V) . (W �� X)

Q �� U  /� R � V

(iv) M �� ~ C

~ C � ~ A

D �� A   /� ~ M �� D

3. Answer any one of the following :

(1) Explain the nature and scope of logic. Distinguish between

induction and deduction. [20]

(2) (a) Determine, whether the following statement forms are

tautologous, contradictory or contingent with the help of

truth table methods (any three) : [15]

(i) (p � q) . (q . r)

(ii) (p �� q) �� ~ p

(iii) q . (p . ~ q)

(iv) p . (~ p �� r)

(v) ~ (p � q) �� ~ r

(b) Determine, whether the following statement forms are

tautologous, contradictory or contingent with the help of
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shorter truth table or truth tree methods (any two) : [5]

(i) A �� (A �� B)

(ii) p � (p �� q)

(iii) (p �� q) �� (~ q �� ~ p)

(iv) (~ q �� ~ p) �� (p �� q).

4. Write short notes on any four of the following : [20]

(1) Disjunction syllogism

(2) Venn Diagrams of A, E, I, O propositions

(3) Rules of Replacement (any three)

(4) Truth tree method as a decision procedure

(5) Symbolize the following propositions :

(i) Ashok is neither writing nor reading. (W, R)

(ii) It is not true that India is not aggrassive country. (I)

(iii) If you exercise daily then and only then you will get

good health. (E, H)

(iv) Either work is easy or difficult. (E, D)

(v) If rain is heavy, then roads will be wet. (H, W)
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80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)

U = {1, 2, 3, 4, 5}

A = {1, 2}

B = {2, 3}
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(i) A � ~ A

(ii) A �� ~ B

(iii) A �� ~ A

(iv) ~ (A �� B)

(v) ~ (A �� B)

(2)

(i) B �� A

~C �� ~ ~ A

/�� B � C

(ii) ~ Q �� ~ P

~ Q �� ~ R

~ R

/� P

(iii) A �� (B �� C)

~ C . ~ A

/� ~ A �� C

(iv) P �� (q �� r)

~ (~ p �� ~ q)

/� ~ q
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(3)

(i)

(ii)

(iii)

(iv)

(v)

(4)

(i) P �� (~ R . S)

(~ R� �� ~ P) �� Q

P     /�� Q

(ii) (~ A �� B) �� (C . D)

~ D   /� ~ A

(iii) (Q �� R) . (S �� T)

(U �� V) . (W �� X)

Q �� U  /� R � V

(iv) M �� ~ C

~ C � ~ A

D �� A   /� ~ M �� D

(1)

[20]
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(2) (a)

[15]

(i) (p � q) . (q . r)

(ii) (p �� q) �� ~ p

(iii) q . (p . ~ q)

(iv) p . (~ p �� r)

(v) ~ (p � q) �� ~ r

(b)

[5]

(i) A �� (A �� B)

(ii) p � (p �� q)

(iii) (p �� q) �� (~ q �� ~ p)

(iv) (~ q �� ~ p) �� (p �� q).

[20]

(1)

(2)  (A, E, I, O )

(3)

(4)
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(5)

(i) (W, R)

(ii) (I)

(iii)

(E, H)

(iv) (E, D)

(v) (H, W)
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No. [5101]-1040

F.Y. B.A. EXAMINATION, 2017

SOCIOLOGY

G-1 : Introduction to Sociology

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Nature of sociology as a science.

(2) Primary and secondary group.

(3) Gender.

(4) Conformity and Deviance.

(5) Social Movement.

(6) Sociology and role of media.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain the elements of social structure.

(2) Discuss the characteristics of social group.

(3) Explain the types of social mobility.

(4) Discuss the factors of social change.
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3. Answer the following questions in 400 words (any one) : [20]

(1) Define sociology and explain the subject matter and scope of

Sociology.

(2) Discuss socialization. Discuss the aims and Agencies of

socialization.

4. Write short notes on (any four) : [20]

(1) Characteristics of Society

(2) Reference Group

(3) Types of Social Control

(4) Characteristics of Social Stratification

(5) Concept of Cultural Lag

(6) Sociology and Social Work.

80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[20]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-1041

F.Y. B.A. EXAMINATION, 2017

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

General Paper I

(Outline of Pre-history, Proto-history and Early History)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the concept ‘Ancient’.

(2) What is an Archaeological excavation ?

(3) What do you know about ‘Rigveda’ ?

(4) Explain the concept of ‘Jain Triratnas’.

(5) Who was Wima Kadphaisis ?

(6) State in brief about the Rashtrakuta Art.

2. Answer the following questions in 200 words each (any two) : [20]

(1) State the literary sources of Ancient Indian History.

(2) Discuss the types of Megalithic Burials.

(3) Write the causes for the decline of the Maurya dynasty.

(4) What do you know about the Chalukyas of Badami ?

3. Answer any one of the following questions in 400 words : [20]

(1) Discuss the salient features of Neolithic Age.

(2) Describe the achievements of Samrat Ashoka.
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4. Write short notes on (any four) : [20]

(1) Medieval History

(2) Mesolithic Age

(3) Harappan Script

(4) Arya Ashtangika Marga

(5) Chandragupta Vikramaditya

(6) Pallava Mahendravarman.

80

 :— (i)

(ii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—8
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F.Y. B.A. EXAMINATION, 2017

STATISTICS

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Symbols and abbreviations have usual meanings.

(iv) Use of calculator and statistical table is allowed.

(v) Graph paper will be provided on request.

1. Attempt each of the following :

(A) State whether the following statements are true or

false : [1 each]

(1) Sum of squares of deviations of all observations about

its mean is zero.

(2) For bivariate data (xi, yi) i = 1, 2, 3 ..... n.

GM XX
GM

Y GM Y

� � �� �� � .

(3) First order central moment is always zero.

(4) Correlation coefficient is invariant to the change of

origin.
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(B) Choose the correct alternative : [1 each]

(1) A set of values with mean 20 and its C.V. is 15%, the

variance of the series is :

(a) 30

(b) 3

(c) 9

(d) 300

(2) Second central moment is equal to :

(a) mean

(b) variance

(c) zero

(d) none of the above

(3) If coefficient of Kurtosis based on moments �2 is negative,

then frequency curve is :

(a) mesokurtic

(b) platykurtic

(c) leptokurtic

(d) none of the above
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(4) Base year of the index number is :

(a) any convenient year

(b) preceding year

(c) year of stability

(d) succeeding year

(C) Answer in brief : [4×2=8]

(1) Define Karl Pearson’s coefficient of skewness.

(2) For mesokurtic distribution if S.D. = 2, then find m4.

(3) Given

	x = 	y = 2 and r = 0.8,

find cov(2x, 3y).

(4) If mode = 25 and mean = 40, then find median of the

distribution.

2. Attempt any four of the following : [4×4=16]

(1) Distinguish between explained and unexplained variation

regarding lines of regression.

(2) The two equations of lines of regression are as follows :

    2x – y – 13 = 0 and

x – 2y + 28 = 0

Find X, Y  and Corr(x, y)
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(3) The values 3, 5 and 7 are assigned weights (k – 4),

(k – 2) and (k + 1) respectively. If weighted arithmetic mean

is 6, then find k.

(4) Describe the functions of National Sample Survey Organization

(NSSO).

(5) During a certain period the cost of living index number increased

from 110 to 200 and the salary of an officer raises from

Rs. 9,900 and Rs. 15,000. Obtain his real income and interpret.

Does he really gain ? If so, by how much in real terms ?

(6) Write a short note on residual plot.

3. Attempt any four of the following : [4×4=16]

(1) Splice the two series together so as to give a continuous series

with base year 2011 :

Year Continuing series Continuing series

A forward B forward

2008 100 —

2009 125 —

2010 140 —

2011 160 100

2012 — 130

2013 — 150

2014 — 170
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(2) With usual notations, show that :

–1 
 r 
 +1.

(3) Cost of living index number of the following data is known

to be 126.2, obtain the missing weight :

Commodity Index Number Weight

A 130 60

B 120 20

C 125 ?

D 115 6

E 120 4

(4) With usual notations, show that for any distribution S.D. �

M.D. about mean.

(5) Out of 100 women 67 preferred perfume of brand X whereas

out of 60 men only 28 preferred it. Find the coefficient of

association between the attributes ‘Gender’ and ‘Preference of

brand X’. Interpret your result.

(6) Given that :

r = 0.4, X Y 108,x y� 
 
 �

3y	 �  and 
2

X 900x� 
 � .

Find the number of pairs of observations.
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4. Attempt any two of the following : [2×8=16]

(1) Given n pairs of observations (xi, yi) i = 1, 2, ..... n, explain

the procedure of fitting of simple linear model of the type

     Y = a + bX + � with

E(�) = 0, V(�) = 	2.

Estimate the parameters ‘a’ and ‘b’ by method of least square.

(2) What is rank correlation ? Derive Spearman’s rank correlation

coefficient in case of without ties for ‘n’ pairs of observations.

(3) Discuss various points to be considered while constructing an

index number.

(4) Obtain Karl Pearson’s coefficient of correlation for the following

information of 8 patients :

Age Hemoglobin

25 10

32 12

45 11

50 8
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58 9

60 10

65 8

72 7

5. Attempt any one of the following : [1×16=16]

(1) (i) Describe Bombay Stock Exchange (BSE) sensitive index

number. [4]

(ii) Calculate 10% trimmed mean and construct Box-plot for

the heights in cm. of 19 students as given below :

          172, 171, 175, 162, 151, 147, 180, 165, 167, 158,

            165, 161, 157, 168, 155, 158, 152, 163, 170. [8]

(iii) Suppose X, Y and Z are uncorrelated variables with the

same standard deviation 	. With usual notations show

that : [4]

Corr (X + Y, Y + Z) = 
1

2
.

(2) (i) What is measures of central tendency ? What are the

requirements of good measures of central tendency ? [4]
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(ii) The following is the price of a commodity in two different

cities :

Solapur Kolhapur

Average price 60 70

S.D. of price 2 3

If r = 0.8, find most likely price in Kolhapur corresponding

to price of Rs. 70 in Solapur. Which city had more stable

prices of commodity ? Justify your answer. [8]

(iii) What is Kurtosis ? With usual notations show that

�2 � 1. [4]
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AMG-I : Applied Mathematics (Calculus and

Differential Equations)
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(a) State completeness property of real numbers.

(b) Evaluate :

��

�
�

lim
x

x x

x x
.

(c) Using definition of derivative, find '(8)f , where :

� �( ) 0f x x x .

(d) Find critical points of the function :

� � � �3( ) 12 5f x x x , � �( 3, 3)x .

P.T.O.
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(e) Evaluate :

0

cos
lim

sin

x

x

e x x

x x�

� �
.

(f) Evaluate :

� ��
1

( 1) ( 2)
dx

x x
.

(g) Find integrating factor of the following differential

equation :

� � �2 3 3( ) 0x ydx x y dy .

(h) Define the term ‘Exact differential equation’.

(i) Find the differential equation of the family of curves

which is orthogonal trajectory of the family y = cx, where

c is parameter.

(j) Solve :

� � 43y px p .

2. Attempt any four of the following : [16]

(a) State and prove Archimedean property.

(b) Solve the inequality :

� � � 	| 1| 2| 1| 10x x .
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(c) Using definition of limit show that :

��

�
� �

�6

4 1
lim

2 4x

x

x
.

(d) Discuss the continuity of f at �
1

2
x  where :

1
, 0

2

1
( ) 1 ,

2

1
1 , 1

2

x x

f x x

x x


 � 	�
�
�

� �

�
�
� � 	 	
�

(e) Find nth derivative of the function f, where :

� �
�

�

2 2

1
( ) , | | | |

0 , otherwise

f x x a
a x

(f) Separate the intervals in which the polynomial :

� � �3 22 15 36 1x x x

is increasing or decreasing.

3. Attempt any two of the following : [16]

(a) State and prove Rolle’s mean value theorem. Also write its

geometrical interpretation.
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(b) (i) Find the coefficients c and d so that the function

f becomes continuous and differentiable at a point a

where :

� �

� � �

2( ) if

if

f x x x a

cx d x a
.

(ii) Show that :

�

� �
� �� �0

1
lim sin
x x

does not exist.

(c) (i) Obtain Maclaurin’s series expansion of tan x .

(ii) Verify Cauchy’s mean value theorem for the functions :

�
2

1
( )f x

x
 and �

1
( )g x

x
 on [2 4].

4. Attempt any four of the following : [16]

(a) Evaluate :

�

� �
� 2

2 1

3 2

x
dx

x x
.

(b) Solve :

� �
�

� �
3

2 2 5

dy x y

dx x y
.
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(c) Explain the method of solving Bernoulli’s differential

equation.

(d) Show that the family :

� �
� �

2 2

1
x y

c c
,

where c is parameter, is self-orthogonal.

(e) Solve :

� � � �2( 1) 2 1 0
dy

x xy
dx

.

(f) Solve :

� � �2 2 25 6 0x p xyp y .

5. Attempt any two of the following : [16]

(a) (i) Solve :

� � �2 2( tan sec ) sec 0
y y y

x y dx x dy
x x x

.

(ii) Solve :

� � � � � �2 2 2 2( 4 2) ( 5 2) 0x y xy x dy x y xy y dy .
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(b) Obtain reduction formula for :

� �
�� 2 2

I ,
( )

n n

dx
n

x a
N

and hence evaluate 
�� 2 5

1

( 4)
dx

x
.

(c) Solve :

2 2 0p y px y� � �

where �
dy

p
dx

.



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—8

Seat

No. [5101]-1044

F.Y. B.A. EXAMINATION, 2017

APPLIED STATISTICS

(2013 PATTERN)
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of statistical tables and scientific calculator is

allowed.

(iv) Symbols have their usual meaning.

(v) Graph papers will be provided on request.

1. Attempt each of the following :

(a) State whether the following statements are true or false :

[1 each]

(i) Mean can be determined in case of the frequency distribution

having open end extreme classes.

(ii) Second central moments denotes standard deviation of

the distribution.

(iii) “Number of sixes on upper most face if a die is rolled”

is a variable.

(iv) If corr(X, Y) = 0.75, then corr(X, 2 – Y) = –0.7.
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(b) Choose the correct alternative : [1 each]

(i) The variance of 10 observations is 4. If each observation

is increase by 4, then the variance of new series will

be :

(a) 4

(b) 2

(c) 8

(d) 0

(ii) If the distribution is symmetric, then the measures of

skewness, �1 is :

(a) < 0

(b) > 0

(c) = 0

(d) None of the above

(iii) Range is the measure of :

(a) Central tendancy

(b) Dispersion

(c) Skewness

(d) Kurtosis

(iv) The index number for base year is consider as :

(a) 0

(b) 25

(c) 50

(d) 100
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(c) Answer in brief : [4×2=8]

(i) Define Yule’s coefficient of association.

(ii) Define Laspeyre’s price index number.

(iii) Measures of Kurtosis (�2) of a distribution of X is 4.

If Y = X – 5, then find the measure of Kurtosis (�2)

of a distribution of Y.

(iv) Define the term simple random sampling.

2. Attempt any four of the following : [4×4=16]

(a) (i) Define geometric mean.

(ii) Discuss any two merits and demerits of median.

(b) Discuss the problems in the construction of index number.

(c) For the following data prepare stem and leaf chart :

220, 205, 211, 207, 228, 207, 222, 203, 208, 210, 213, 215.

(d) Write a note on systematic sampling.

(e) State the expressions for first four central moments in terms

of raw moments.

(f) Compute third quartile (Q3) for the following data :

Class Frequency

0—5 5

5—10 10

10—15 15

15—20 12

20—25 8
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3. Attempt any four of the following : [4×4=16]

(a) Define Pearson’s measures of skewness. Give their

interpretation.

(b) Describe the graphical method of determination of median.

(c) Given the following information in case of two attributes :

N = 250, (A) = 41, (A�) = 8, (B) = 65.

Compute coefficient of association between two attributes and

comment on it.

(d) The frequency distribution of marks obtained by 100 students

in a certain examination is as follows :

Marks Number of

Obtained Students

0—20 10

20—40 20

40—60 30

60—80 24

80—100 16

Find mode of the distribution.

(e) Out of 100 students interviewed 40 liked Indian music, 70

liked Western music, 20 did not liked the both. Find the number

of students :

(i) Who like both types of music ?

(ii) Who like either type of music ?

(f) Explain the terms Statistical population and Sample.
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4. Attempt any two of the following : [2×8=16]

(a) The following is the distribution of marks obtained in a certain

examination :

Marks Obtained Number of

below Students

20 2

40 7

60 35

80 46

100 50

Find mean deviation about mean of the distribution.

(b) Calculate the Spearman’s rank correlation coefficient for the

following data :

Marks Obtained Marks Obtained

in Maths (X) in English (Y)

75 60

80 74

65 69

82 70

79 72

49 35
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(c) The height of father in inches (X) and the height of son in

inches (Y) for 7 samples of fathers and their sons are as

below :

X Y

65 68

63 66

67 68

64 65

68 69

62 66

70 68

Fit a line of regression of Y on X by least square method.

(d) If the attributes A and B are independent, then show

that :

(i) � and B are independent and

(ii) � and � are independent.

5. Attempt any one of the following :

(a) (i) State the conditions of consistency in case of three

attributes. [4]

(ii) Explain the terms splicing and deflating of index

numbers. [4]
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(iii) The sales (in thousand) of a certain product during 7

years are given below : [8]

Year (X) Sales (Y)

1 18

2 22

3 31

4 36

5 49

6 55

7 69

Fit the curve Y = abX to the above data.

(b) (i) The price and quantity for year 2008 and 2012 of four

different commodities A, B, C and D are as given

below : [8]

Commodity 2008 2012

Price Quantity Price Quantity

A 20 8 40 6

B 50 10 60 5

C 40 15 50 10

D 20 20 20 15

Calculate price index numbers for year 2012 taking 2008

as a base year using :

(1) Laspeyre’s formula

(2) Paasche’s formula and

(3) Fisher’s formula.
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(ii) Compute coefficient of correlation between X and Y for

the data given below : [8]

X Y

18 24

20 15

21 10

18 20

19 20

20 18

22 14

23 10

25 8

22 15



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-1045

F.Y. B.A. EXAMINATION, 2017

PHILOSOPHY

General Paper I

(Introduction to Philosophy)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each : [20]

(i) Explain the nature of Epistemology as branch of

Philosophy.

(ii) Explain the nature of the concept of Darshan.

(iii) Explain the concept of Induction.

(iv) Explain what is Theism ?

(v) State the nature of Beauty.

(vi) State the concept of Right.

2. Answer any two of the following questions in 200 words each : [20]

(i) Give an account of Maya.

(ii) Discuss the nature of concept Pratyaksha.

(iii) Discuss elaborately : the moral argument for the existence

of God.

(iv) State the nature of Deontological ethics.

P.T.O.
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3. Answer any one of the following questions in 400 words : [20]

(i) Discuss the nature of concept of God in Nyaya

Darshan.

(ii) Elaborately discuss the nature of Materialism.

4. Write short notes on any four of the following in 50 words each : [20]

(i) Etymology of the term ‘Philosophy’

(ii) Dehatmavad

(iii) The Concept of Reason

(iv) Good Will according to Kant

(v) Sadharanadharm

(vi) Nature of Art.

80

 :— (i)

(ii)

(iii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)

4. [20]

(i) ‘Philosophy’ 

(ii)

(iii)

(iv)

(v)

(vi)
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No.No.No.No. [5101]-1046[5101]-1046[5101]-1046[5101]-1046

F.Y. BA. EXAMINATION, 2017F.Y. BA. EXAMINATION, 2017F.Y. BA. EXAMINATION, 2017F.Y. BA. EXAMINATION, 2017

MATHEMATICAL PRE-REQUISITESMATHEMATICAL PRE-REQUISITESMATHEMATICAL PRE-REQUISITESMATHEMATICAL PRE-REQUISITES

(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use graph paper wherever necessary.

1.1.1.1. Attempt any ten of the following : [20]

(i) Define  variable.

(ii) Define linear function.

(iii) Given :

2
3

x
y � � ,

find slope and y-intercept.

(iv) Find the equilibrium price and quantity for :

Qs = 10 + 2P

Qd = 100 – 4P

(v) Write the derivative of constant function.

P.T.O.
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(vi) Given :

25 ,y x� find 

2

2
,

dy d y

dx dx

(vii) Define : extreme value.

(viii) Define marginal cost.

(ix) Given :

z = 3x + 8y, find zx, zy

(x) Given z = x3 – xy + y3, find partial derivative of z with

respect to x and y.

(xi) Find the marginal physical productivity for the production function

(Q), where :

2 2Q 6 3 2x xy y� � �

(xii) Write the total derivative for the function :

z = f(x, y)

(xiii) If y = u3 and u = x3, find 
dy

dx

2.2.2.2. Attempt any two of the following : [10]

(i) Draw graph of the function 2 4 0x y� � �  and give slope and

y-intercept.

(ii) Given :

6 7

8 5

x
y

x

�
�

�
, find 

dy

dx
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(iii) Determine the critical value for the function :

TR = 32Q – Q2

also determine TR is relative maximum or minimum.

(iv) Given :

2 25 8 6 0x xy y� � � , find 
dy

dx

3.3.3.3. Attempt any two of the following : [20]

(i) Given the function :

2 23 2 4 7 12,z x y xy x y� � � � � �

find the extreme values and determine the function is maximum

or minimum.

(ii) Explain the relationship between total product and marginal

product.

(iii) Given :

27

1

x
y

x
�

�
, find 

dy

dx
 at x = 0.

(iv) Use the elimination method to find the equilibrium price and

quantity when the demand function is :

3P + Q2 + 5Q – 102 = 0

and supply function is :

P – 2Q2 + 3Q + 71 = 0
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4.4.4.4. Attempt any two of the following : [30]

(i) Minimize the cost for a firm with the cost function :

2 25 2 3 800c x xy y� � � �

subject to the production quota x + y = 39.

(ii) Given :

(8 4 )

( )

x y
z

x y

�
�

�
, find zxy, zyx

and determine whether zxy = zyx.

(iii) The profit functions for two different firms are given by �1

and �2 respectively :

�1 : –Q2 + 17Q – 42

�2 : –Q2 + 16Q – 38

(a) At what level of output will the first firm earn zero

profit ?

(b) At what level of output will the second firm earn a

profit of Rs. 25 ?

(iv) (a) Given :

2 26 15 3 ,z x xy y� � �

find total derivative 
dz

dx
, where y = 7x2

(b) Find the slope at x = 2 and x = 5 for the function :

32 2y x x� �
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-1047

F.Y. B.A. EXAMINATION, 2017

RESTRUCTURING

(Foundation Course)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Write the following questions answers in 100 words each (any four) : [20]

(1) Explain the social life of Vedic culture.

(2) State the work of Brahmo Samaj.

(3) State the information about Planning Commission.

(4) Explain the nature of Science.

(5) State the elements of state creation.

(6) Explain the types of research methodology.

2. Write the following questions answers in 200 words each (any two) : [20]

(1) Give the information about Indian Religion.

(2) Give the information about Dalit movement in India.

(3) Explain the measures of women empowerment.

(4) Explain the National values.

3. Write the answer of any one of the following in 400 words : [20]

(1) Take brief survey about Education movement in modern

India.

(2) State the information about ‘Right to Information Act, 2005’.
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4. Write short notes on the following in 100 words each (any four) : [20]

(1) Culture

(2) Non-Brahman Movement

(3) Service Sector in India

(4) Concept of Society

(5) Gender Disparity

(6) Privatization.

80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [5101]-1050

F.Y. B.A. EXAMINATION, 2017

(Vocational Course)

COMPUTER APPLICATIONS COURSE—I

(Theory)

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) Draw a neat-labelled diagram wherever necessary.

(ii) Figures to the right indicate full marks.

1. Answer the following (any five) : [10]

(1) Octal

(2) ASCII

(3) ROM

(4) Unix

(5) MICR

(6) Icons

(7) Paint brush.

2. Answer the following (any two) : [10]

(1) What is MS-Word ? What are the features of MS-Word ?

(2) What is Output device ? Explain any two devices.

(3) What is e-mail ? What are the advantages of e-mail ?

3. Solve the following : [15]

(1) Convert from Decimal to Binary :

(87)10 = ( )2
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(2) Convert from Octal to Binary :

(454)8 = ( )2

(3) Binary Addition :

1011111 + 10111

(4) Binary Subtraction :

11111 – 1011

(5) Solve using 2’s complement method :

1101 + 1001

4. Answer the following : [5]

What is Operating System ? Explain types of operating system.

Or

What is Internet ? Explain uses of internet.
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Total No. of Questions—6] [Total No. of Printed Pages—5

Seat

No. [5101]-1051

F.Y. B.A. (Vocational Stream) EXAMINATION, 2017

FUNCTIONAL ENGLISH

Paper I

An Introduction to English Language and Writing Skills in

English (Theory)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (a) Write short notes on any two of the following : [6]

(i) Language as a means of communication

(ii) Speech event

(iii) Consonants in English.

(b) Fill in the blanks (any five) : [5]

(i) The central vowels in British RP are ........................ .

(ii) The final consonant sound in the word ‘behind’ is ..... .

(iii) ........................ are nasal sounds in British RP.

(iv) The total number of pure vowels in English is ................ .

(v) The vowel sound in the word ‘till’ is ........................ .

(vi) The initial consonant sound in the word ‘fast’ is .......... .

(vii) The diphthong sound in the word ‘poor’ is ................ .
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(c) State whether the following statements are true or false

(any five) : [5]

(i) /f, s/ are voiceless sounds.

(ii) There are eight diphthongs in English.

(iii) All vowels are voiceless sounds.

(iv) The vibration of vocal cords produces voice.

(v) There are five front vowels in English.

(vi) There are fifteen voiceless consonants.

(vii) Tongue is an active articulator.

2. (a) Use the correct tense forms of the verbs given in the

brackets : [3]

Some hours later he (arrive) at the office. Usually he (leave)

early as he has to meet his sick mother. But today he will

be (work) for long time.

(b) Fill in the blanks with appropriate prepositions given in the

brackets : [2]

[out of; with; into; in]

In the morning the watchman came ..................... a pale face

and told me that he had seen the strange man who lived

..................... the neighbourhood. He climbed ..................... the

window ..................... the garden, went to the gate and

disappeared.

(c) Change the voice (any two) : [2]

(i) He purchased a smart car.

(ii) The workers are completing the job.

(iii) He scores a century.
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(d) Use articles (a/an/the) wherever necessary : [2]

In ..................... United States there was .................tremendous

rise of short stories. Growing literacy and ..................... increase

in magazine publication helped in this direction. Story as

..................... art from developed.

(e) Choose the correct alternative given in the brackets (any

five) : [5]

(i) Either my friends or Rahul (is/are) at the office.

(ii) Teachers (attends/attend) lectures regularly.

(iii) One of the teachers (was/were) on leave.

(iv) Shamal prefers coffee (to/than) tea.

(v) He used (car of his friend/his friend’s car).

(vi) The guests have finished breakfast, (haven’t they ?/have

they ?)

(vii) My sister (am understanding/understands) French.

3. (a) Write notes on any two of the following : [10]

(i) Falling tone

(ii) Word accent as an important feature of English

(iii) Rules for word stress.

(b) Divide the following sentences into tone groups and mark accent

and intonation (any five) : [10]

(i) Good afternoon. Where is the mark sheet ?

(ii) Come here and sit down.
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(iii) Are they ready to go ?

(iv) The movie is heart touching.

(v) What is the answer to the question ?

(vi) He said that he should go.

(vii) What is strange idea !

4. Develop the following points into a good paragraph of about fifteen

sentences : [10]

Uses and Abuses of Internet

Introduction — means of information, knowledge and entertainment

—  functions — utility — proper use — improper use — positive

and negative effects — investment of time, money and energy —

need to keep control on use — conclusion.

Or

Write a short paragraph on the topic ‘Growing indiscipline among

students’.

5. Prepare a flow chart showing the admission procedure for FYBSc

in Nashik with the help of the given points : [10]

[Visit university web site for admission — fill the form — give

preference of the colleges — submit hard copy at the centre given

— waiting list — read allotment on net — fill in the form of the

college allotted — attach documents — consult a teacher for admission

— do attestation from the authority — pay the fees — submit

the documents]
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6. Read the following entries from the Oxford Advanced Learner’s Dictionary

and answer the questions given below (any five) : [10]

Questions :
(i) Write two meanings of ‘heroic’.
(ii) Transcribe the word ‘hero’ phonemically according to the British

English.
(iii) Transcribe the word ‘heroine’ phonemically according to the

American English.
(iv) Use the word ‘hero’ in your own sentence.
(v) How many syllables are there in the words ‘heroism’ and

‘hernia’ ?
(vi) Which syllables have primary stress in the words ‘heroic’ and

‘heroine’ ?
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Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [5101]-1052

F.Y. B.A. EXAMINATION, 2017

TRAVEL AND TOURISM MANAGEMENT

(Vocational Stream)

Paper I

(Fundamentals of Tourism)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (Around 50 words) : [10]

(1) Transportation in India

(2) Adventure tourism

(3) Concepts of visitor and traveler

(4) Accessibility.

2. Write short notes on any four (Around 100 words) : [20]

(1) History of tourism

(2) Regional tourism in India

(3) Effects of World War II on tourism

(4) Capital output ratio

(5) Economic benefits of tourism

(6) Importance of tourism industry for development in country.
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3. Answer any three (200-250 words) : [30]

(1) Importance of paid holiday

(2) Information technology for development of tourism

(3) Advantages of mass tourism

(4) Tourism and international understanding

(5) Characteristics of tourism product.

4. Answer in detail any one (Around 500 words) : [20]

(1) Input and output devices of computer

(2) Cost benefits and foreign currency.
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Seat

No. [5101]-1053

F.Y. B.A. EXAMINATION, 2017

FUNCTIONAL HINDI : Vocational

: 1

(2013 PATTERN)

80

 :— (i)

(ii)

(iii)

[5]

(1) Directive

(2) Assistant

(3) Secret

(4) Loss

(5) Internal

(6) Final

(7) Joint.

[5]

(1)

(2)

(3)

(4)
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(5)

(6)

(7)

[10]

[12]

[15]

[7]

[8]
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[18]
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F.Y. B.A. EXAMINATION, 2017

COMPUTER APPLICATION

(Vocational Paper II)

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory

(ii) Figures to the right indicate full marks.

(iii) Neat diagrams must be drawn wherever necessary.

1. Answer the following (any five) : [10]

(a) What is the difference between while and do while.

(b) Explain scanf( ) and printf( ) statement.

(c) Write a statement to accept two-dimensional array of size

2 × 3 and values 1, 2, 3, 4, 5, 6.

(d) If salary = 90, how would you print salary : Your salary

is 90.

(e) Assign the character value ‘Z’ to the fourth element of an

array ‘Letter’.

(f) Explain the statement a+=b.

P.T.O.
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2. Write short notes on the following (any four) : [12]

(a) Flowchart symbols

(b) Malloc( ) function

(c) Call by value and call by reference in function

(d) Keywords in C

(e) Structure in C.

3. Write a program in ‘C’ (any two) : [10]

(a) Write a function to add two numbers.

(b) Write a programme to test whether the given no is divisible

by 5.

(c) Write a programme to count no. of characters in a

string.

4. Find the output : [8]

(a) #include <stdio.h>

#define SEMI;

void main( )

{

int p=3 SEMI;

printf("%d", P) SEMI

}
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(b) #include <stdio.h>

void main( )

{

int sub[50], i;

for (i=0; i <=48; i++);

{

sub[i]=i;

printf("\n%d", sub[i]);

}
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